
Road to IPhO Фамилия, имя

Переход жидкость–пар
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151.8 2108 247.3 1728

158.8 2086 253.2 1697

165.0 2066 258.8 1667

170.4 2048 263.9 1638

175.4 2030 266.4 1624

179.9 2014 271.1 1596

184.1 1999 277.7 1556

188.0 1985 281.9 1530

191.6 1971 285.8 1504

195.0 1958 289.6 1478

198.3 1946 293.2 1453

201.4 1934 296.7 1428

204.3 1922 300.1 1403

209.8 1900 303.3 1378

212.4 1889 306.5 1353

217.2 1868 309.5 1328

221.8 1849 312.4 1304

228.1 1820 315.3 1279

233.8 1794 318.0 1254

240.9 1760 320.7 1229
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Road to IPhO Фамилия, имя
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